
الصف
ّ ّ

سـلم تصحيح المذاكرة البيتية  ����������������������������: 
َّ

 ١ 

المادة
ّ

 :���������������������������������������������������������������  

������������������������������������������������������������� �
��������������������������������������������  ����          ����  

���������� - ���������������������������������������� - ����������� �

������������ - ������� - ������������������ - ����������� �

��������������������-��-��-��-�������� /����������� �
����������������www.alfajr-school.com� �

 

  وةــــــــطــــــــخــــــــال
درجة 

  الخطوة

(7  10)  

[1]1



)(

1

xfLim
x

  

2  

31
2

3
)(  xxf 

4  

5











x
xf

xLnxf

1
)(

)(















7.02

2.082.8

Ln

ha

hafafhaf )()()( 

hfff )8()8()2.8( 











10

2

8

1
8)2.8( LnLn

80

2
23  Ln

80

2

10

21


40

85

80

170


  

6  cxxLnxdxxLn  

7 
2

2

0)1( dxex x
 

[2]1f  ,1

(180) 

5 





)(

1

xfLim
x

5 

  //yy  1x  5 




)(xfLim
x5 



0
1

1
)( 



x

xf  10  

15  

(2)
1

)(



x

x
xg    ,1,1,5 

1)(,1)( 


xgLimxgLim
xx

55  

1yxx)()( 5 





)(

1

xgLim
x

5 

1xyy5 





)(

1

xgLim
x

5 

1xyy5 

0
)1(

1
)(

2




x

xg15 

15  

(3))0()0(
0)0(

0)0(
gf

g

f









10  

)0()0(
1)0(

1)0(
gf

g

f









10  

1c2c10  

1)0()0(  gfm5  

)0(10  xy5 

xy  :  

[3]

)40(dx
x

x
I  




1

1
2

2  

 


 dx

x

x
I

1

21
2

2

5 

 









 dx
x

I
1

2
1

2
   5 

11)1()1(

2

1

2
2 








 x

B

x

A

xxx
  5 











1

1

B

A
  10 

 














 dx

xx
I

1

1

1

1
1    

CxLnxLnxI  11   10 

[4] 

)45(



4

1
3

2

dx
x

xx
I

 





4

1

3

1
2 )( dxxxx  5  





4

1

3

1

3

1
2 .. dxxxxx  5  

 
4

1

3

2

3

5

dxxx  5  

4

1

3

5

3

8

5

3

8

3


















xx

 5  

4

1

3 53 8

5

3

8

3






 xx  10  

40

39
16

5

12
166

5

3

8

3 33

4

1

3 23 22 





 xxxx  10  

15 

A
15 

15 
















1324
0132
4213

A  ~  














 

1324

0132

4021

 

1122 RRR    331221 4,2 RRRRRR   

    

5 























153100

8170

4021

~A  ~ 



























7

25

7

11
00

8170

4021

 10 + 10 



32
7

10
RR 


  

 

 

























26518

4245

19411

H  ~ 






















1262790

991890

19411

 

2215 RRR   

331
8 RRR   

 332 RRR   

 

10 + 10 























27900

991890

19411

~H  

nrr  3  
 

10 

10 

(3)3z

(2) 

4554999 y

5y

(1)

212519 x

)3(279
)2(99189
)1(194





z
zy
zyx

 

10 

10 

10 

})3,5,2({ 3RS   10 

[1] 
2

3

12

3
22







y

yx

Mh

MF
 25 

36344
4

3

)1(
222

2

22





yyyx

y

yx
 25 

0364 22  xyx  10 

[2]1)0,1,2(,)1,1,1(  ACAB  20 

ABAC
1

1

2

1


20 

ABC10 

2 kjikji

kji

ACAB 32)3()2()1(

012

111 



  20 

2

14
941

2

1

2

1
)(  ACABABCS  10 

3 07320)1(3)1(2)2(1  zyxzyx  10 


